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Question Number : 1 Question Id : 8135613361 Display Question Number : Yes Is Question
Mandatory : No

The function g: Z X Z » Z X Z defined by mapping g(m,n) = (m +n,m + 2n) is

:Z X2~ Z X Z 03 320003w g(m,n) = (m +n,m + 2n) 1 6ER, & 3000

Options:

Neither injective nor surjective
- (S S°A SoBasw ';aaci'cgan S0

Injective but not surjective nor surjective
(SN ) Do S

Surjective but nor injective
- Ro(f50 S ©A(SIL SV

Injective & surjective

2 AEIDD00D

Question Number : 2 Question Id : 8135613362 Display Question Number : Yes Is Question
Mandatory : No
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LetS(k) =143 45+ + (2k — 1) = 3 + k. Then which of the following is true?

Sh)=1+3+5++(2k—1) =3 + k* 0awd. & $08 T8S° DB Jasw?

Options:

i %S (1) 1s correct

, oS = S(k+1)
2 % S(k) % SCk + 1)

PMI can be used to prove the formula

. AT ROAD0D DBV T°E DAFBIR 0L DEWDLWNR

Question Number : 3 Question Id : 8135613363 Display Question Number : Yes Is Question
Mandatory : No

§E 3 1
IfdetA=[5 3 2|.detB= .detC = and det A = det B + det C. then
5 3 m

Ll o &
Lo LD Lo
UL D =

o Lo o
Lo O W
ol Do ==

det A, det B, det C & 2 dor™ éoc. detA = det B + det C eoand

Options:

1_¢k=3,b=3,m=5

K=2bh=3m=10

2. %
3 % e =3 b=0m=5
4 % K=2b=3m=DhH
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Question Number : 4 Question Id : 8135613364 Display Question Number : Yes Is Question
Mandatory : No

ficg i g
HA=| 2 1 —2|thenadj(4) =7
2 =2 &
[ -
A=] 2 1 —2|®owad adj(4) =
2 -2 o)
Options:
T
o R
T
Z.HA
T
3. w34
T

Question Number : 5 Question Id : 8135613365 Display Question Number : Yes Is Question
Mandatory : No

_ ] (V3-1 —(V3+1) o |
$ % 1 2V2 22 10
HA=|0 1 1,B=|v3+1 31 then (B BTAT) i
|4 k| 2v2 2v2 ¢
0 0
, _ [V3-1 —(V3+1) 0'
EE 2 2V2 2V2 10
A=|0 1 1|00 B=|v3+1 +V3-1 0 00X (B BTAT) =
B 3 2V2 2V2
' ' 0 0 1
Options:
1 ™
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'Y 80 20

0 10 10
B @ 1
(1 10
0 10
AL
(1 10
0 1
L Lo o
(1 10
D 1
0 0
4, %

55 |

10

55 |

10

55 |

Question Number : 6 Question Id : 8135613366 Display Question Number : Yes Is Question

Mandatory : No

Let A be a square-matrix. The matrix AA” is always a

A 28 BRC6R A wod AAT 0D IAras

Options:

1.

3.

Skew — symmetric matrix
S8 — RS HrJs

*

symmetric matrix

L, T30 aroe

symmetric & skew — symmetric matrix
L RO 2080k D - IR 23S
>
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Zero matrix

- ara‘)ﬁ DTS
4, %

Question Number : 7 Question Id : 8135613367 Display Question Number : Yes Is Question
Mandatory : No

For what values of A. the following equations are consistent?

x+y-3=0, 14+)x+2+1)y-8=0,x-(1+A)y+(2+1) =0
x+y-3=0 (1+Dx+Q2+A)y-8=0, x—(1+A)y+ (2 + 1) = 0 ds6eren
Rofiddednd o, A =

Options:
S -5/3
5/3

2, %

3. % T2

Question Number : 8 Question Id : 8135613368 Display Question Number : Yes Is Question
Mandatory : No

(5-30)(1+1)
(6+21)(2-1)

If x and y are real numbers such that x + iy = J then (x? + y2)* =

s R RN o o R e
x+:y~—J(G+2i)(2_i).x,ymgémm}gwwwé(x +y) =
Options:

17

1.« 950
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40
2. % 17

50

s u 7

17
4. % 40

Question Number : 9 Question Id : 8135613369 Display Question Number : Yes Is Question

Mandatory : No

The principal amplitude of (sin 40° + i cos 40°)° is

(sin40° + i cos 40°)° GIVE); VTR O 28?7

Options:
1. % 70°

, »—110°
3 x 110°

4, % —70°

Question Number : 10 Question Id : 8135613370 Display Question Number : Yes Is Question
Mandatory : No

If z = cisz—; then(1—-z)1 -2 -2z —-2) =

= cfsz?n od (1 -z -23)1-2z)(1-2) =

Options:
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Question Number : 11 Question Id : 8135613371 Display Question Number : Yes Is Question
Mandatory : No

. : 1 X
If @, B are the roots of the equation x* + 2x + 4 = 0, then— + e 1s equal to
a

1 |
X2+ 2x + 4 = 0 2GS @, f o rergd, = g 9 Rard dend

Question Number : 12 Question Id : 8135613372 Display Question Number : Yes Is Question
Mandatory : No
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If f(x) is a polynomial with real coefficients and ‘e’ is a complex number, then @ is equal to

@ 8 %088 Roa), THI ARSL 10 WTVOB f(x) Bowd, f(a) © PAFIDIE

Options:

, u [f@)

, « fl@)

3, % fl@)

Question Number : 13 Question Id : 8135613373 Display Question Number : Yes Is Question

Mandatory : No

The roots of the equation x> —6x%+3x+10=0 are

x3 —6x% 4+ 3x + 10 = 0 D66 Sorerden

Options:
I geometric progression

- e384 e5° &otro

in arithmetic progression

| ©90836.&5° €otToW
2.V

in harmonic progression

g woésades" ot
3. %

Positive

. BT 8)Sd0en
4, %
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Question Number : 14 Question Id : 8135613374 Display Question Number : Yes Is Question
Mandatory : No

If  and f are the roots of ax® + bx + ¢ = 0 (a # 0) and @ + h. B + h are the roots of px” +

gx + 1 =0 (p # 0) then the ratio of the squares of their discriminants is

a 208080 f e ax’ + bx + ¢ = 0 (a  0) & Awreren 2805 @ + h. f + h ev px’ +
gx+1=0(p#0) O Qrogd, T8 LY STV AQS Jod?

Options:

jvaip’

2. % @°P

Question Number : 15 Question Id : 8135613375 Display Question Number : Yes Is Question

Mandatory : No

The value of 1568 + 1569 — 15C6 — 15C7

15 15 15 15 -
CB—I- Cg- CG—- C7o3nsbbméaoé.

Options:

1.% —1

2. 0
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Question Number : 16 Question Id : 8135613376 Display Question Number : Yes Is Question
Mandatory : No

How many four-digit numbers abed exist such that a 1s odd. b 1s divisible by 3. ¢ 1s even and

d 1s prime?

@ 28 8 @08, b @08 3 AE), DERSA, ¢ 28 VO 08 HBAK d W8 VIR VoS BB
) abed ErHANG’ &) 4 o8V Rod[e FrafroD

Options:
1. % 380

, % 360

4 % 480

Question Number : 17 Question Id : 8135613377 Display Question Number : Yes Is Question
Mandatory : No

In how many ways can 3 Americans. 4 Frenchmen's, 4 Indians and 2 Italians be seated in a

round table so that those of the same nationality sit together?

28 o SBAY S[%en 28 b Srd LD, 3 M ©BEW, 4 HE PO, 4 M
@00, BGEH DA AV 28 Dod WY e A) DeHeD
Srd)yoceifON?

Options:

. 165,888
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, o 41,472

5 % 6912

4 % 2"

Question Number : 18 Question Id : 8135613378 Display Question Number : Yes Is Question
Mandatory : No

9 A B C

= (x—1)(x+2)2 i x—1 ;- oD y (x+2)? then A — B — C 1s equal to
(x—1){x+2)* ™~ =1 T x+2 + (x+2)2 o3 A — B — C dend
Options:

1.% 3

2. & 3

3, % —1

g, 8¢

Question Number : 19 Question Id : 8135613379 Display Question Number : Yes Is Question
Mandatory : No

The value of cos* (%) + cos* (EBI—E) + cos* (i{r_) + cos? (——) 1s

“() +eos* () +cos* () + cos* (§) =
cos (8 + cos 3 + cos 3 + cos 3
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Options:
T« = 0

1
2. % 2

Question Number : 20 Question Id : 8135613380 Display Question Number : Yes Is Question

Mandatory : No

f0<l< % and sec 6 + tan 6 = m and cosec 6 + cot @ = n then sec @ + cosecf =

200030 sec +tanf = m , cosecf + cotf = n @A sec f + cosecl =

n
0<f< 7
Options:
(m+1)(mn—-1)
1 % 2mn
(m+n)(mn+1)
> % mn
(m+n)(mn+1)
3 ¢ 2mn
2(m+n)(mn+1)
4. % mn

-
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Question Number : 21 Question Id : 8135613381 Display Question Number : Yes Is Question

Mandatory : No

- . 1
fO0< x<m and cosx +sinx =?then tanx =

1
0 <x <m 003 cosx +sinx =? 0 tan x =

Options:

4—7

.% 3

447

2_::4 3

— (4+V7)

Question Number : 22 Question Id : 8135613382 Display Question Number : Yes Is Question
Mandatory : No

Which of the following is true?

& 208 o°6e5° DA D220

Options:

Si11_1x+Cos_1x=% Vx ER

~ Cos - =2Tan 'x Vx € [-1,1]
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. Sec™? (M) + Cosec™ ! (2019) ¥

3 2020 2020 2

—_— B o 1
Sin (2xV1—x2l—2Cos x Vx E ﬁ,l]

4.

Question Number : 23 Question Id : 8135613383 Display Question Number : Yes Is Question
Mandatory : No

In a triangle ABC. (b+ a)cosC + (a+ c¢)cosB + (a+ b) cos C is

28 Qzoadw ABC &, (b+a)cosC + (a+c)cosB + (a+b) cos C £ DTS20

Options:
Area of the triangle

| 9% DTORW

Half the perimeter of the triangle
5 S22 LT VSBES” DAL

3 X 2R sinAsinBsinC

2s (perimeter of the triangle)

4 o 28 (8zba) otwSos)

Question Number : 24 Question Id : 8135613384 Display Question Number : Yes Is Question
Mandatory : No

AABC 1s right angled at ‘B’. then the diameter of the incircle of the triangle 1s

ABC 8202508 £B = 90° e00® ABC $zh2808° uoe:sgam&:: SN 35‘533»

Options:

| % 2(c+a—>b)
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5 % c+a—2b

3\Jc’+a—b

_c—a+2b
.

Question Number : 25 Question Id : 8135613385 Display Question Number : Yes Is Question

Mandatory : No

3 . 2 B ; ; ;
If cos A 4 cos C = 4 sin® - then the sides of triangle are in

. 2 B
Qe ABC &°cos A + cos C = 4sin? 5 008, Zoaawew a, b, c e

Options:
Arithmetic progression

v o e9053¢e5° &obTo

Geometric progression
5 % 0BCS" &otron

Harmonic progression

_ W@éSQd,ﬁ‘ €&otTPoN
3. %

Arnithmetico-Geometric progression

4 % 908 (5 3G

Question Number : 26 Question Id : 8135613386 Display Question Number : Yes Is Question
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If ABCDEF is a regular hexagon inscribed in a circle with center ‘0’, then AB + AC+ AD +
AE + AF equals

0 Sogsasoorr i H8ane’ wosdosndd teoya ABCDEF wowd AB + AC + AD +

AE + 4F =
Options:

| x 440

Question Number : 27 Question Id : 8135613387 Display Question Number : Yes Is Question

Mandatory : No

Let E,F and ¢ be three non-zero vectors. no two which are collinear. If @ + 2 b is collinear
withe and b + 3 is collinear with @ then @ + 2b =

a,b T 08" ) Bokr v3osrer 7 ArS(06 DB%e S0Bakw @ +2D 08T ©b +

3¢ 068 T £ DAFBEIT Gl UG T +2b =

Options:

—

1.% €
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Question Number : 28 Question Id : 8135613388 Display Question Number : Yes Is Question
Mandatory : No

If 22 +3b —5¢ = 0. then the ratio in which  divides AB is

@b, 03 AB.C Dot 4 06800 30805 27 +3b — 57 = 0 eond T %68 4B
RSN :)'&1)@

Options:
3 : 2 mternally

| odber 3:2 JinQS’

3 : 2 externally

| T 312 D3

2 : 3 internally

- eoGorr 2 : 3 31‘{3@6‘

2 : 3 externally

4 % T 2:3 QS

Question Number : 29 Question Id : 8135613389 Display Question Number : Yes Is Question
Mandatory : No

If@=i+jandb =] + k are two vectors, then | @ X F| —

T=1+] &0awb =) + ke Bt HB%ew wad | T X b | & 2ars20d Jewsd
Options
. %0
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Question Number : 30 Question Id : 8135613390 Display Question Number : Yes Is Question

Mandatory : No
The volume of the tetrahedron having the edges i +2j —k, i+ ] + k i —j + 1k as

g o .
coterminal 1s 3 cu. units. then A =
T42] =k T+] +k T-] +2k 0b%e0 25508 dhapenr o S8y 23
2
208080 = 20 O BOA 4 =

Options:

1.*-471

Question Number : 31 Question Id : 8135613391 Display Question Number : Yes Is Question
Mandatory : No

— — " T ' ' —y e '
Ifa and b are unit vectors such that @ + b is also a unit vector, then the angle between @ and b is

—_

@ +b ord 268 vdber E’,Fwoﬂww:}&%wawaﬁ'fumqﬁﬁ RN
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Options:
75°

1. %
. 60°
3 v 120°

;. 138

Question Number : 32 Question Id : 8135613392 Display Question Number : Yes Is Question
Mandatory : No

f @a,b,c are 3 vectors then [F +b b+c ¢ +al=

e

a,b,c arcvotow [a+b b+ ctal=
Options:

[@b ]

1. ™

Question Number : 33 Question Id : 8135613393 Display Question Number : Yes Is Question
Mandatory : No

Ifr=xi+yj+tzkthen(Txi)-(Fxj)+xy=

—
T

"=xi+yj tzkeoawd (rxi) (Txj)+xy=
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Options:

1.¢ 0

2

r.JJ

Question Number : 34 Question Id : 8135613394 Display Question Number : Yes Is Question
Mandatory : No

The mean of five observations 1s 4. Four of these observations are 1,2, 4, 6. Then variance of

the five observations 1s

5" HBTVH S06§00 4. J6965° Treur DB 1,2,4, 6 00d, o) HBTVN
9\® dod?

Options:
1:.% 5

3.v 92

4% 91

Question Number : 35 Question Id : 8135613395 Display Question Number : Yes Is Question
Mandatory : No
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The variance of the following data 180,198,90,126,72,144,18,81,27,54 1s

180,198, 90, 126,72, 144, 18,81, 27, 54 93 &5&r0% iy® Dod?

Options:
1 % 30618

5 x 378

¢ 42

Question Number : 36 Question Id : 8135613396 Display Question Number : Yes Is Question
Mandatory : No

2 5 - —
If E and F are independent events such that P(E) = 7L P(F) = B then P( ENF )=

2 5 5 gy
E, F oo dowden &80t P(E) =— . P(F) =— wawd P(E NF ) =

Options:
3

. u 11

4

s ¢ 11
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Question Number : 37 Question Id : 8135613397 Display Question Number : Yes Is Question
Mandatory : No

Which of the following 1s false?

& Sod I7e5° DA D20 S°R?

Options:
If E and F are exclusive events then P( EUF =1

_ E,F o0 D606 D3dd oedgd P(E UF ) =1
PR ® it

If P(E)+ P(F)+ P(G) = 1 then E, F, G form a partition of sample space S.
g P(E)+P(F)+P(G) =1©®ondEUFUG=S ?5::3:05 €3:50¢3

3 —_—
If P(A) iy then P(A ) =

*~l|r¢h~q|-t-n

3 5
P(4) = — ©o03 P(A)=

If E and F are independent events then P(E/F) = P(E).

4% E, F 20 /(S0 20000000\ P(E/F) = B(E)

Question Number : 38 Question Id : 8135613398 Display Question Number : Yes Is Question
Mandatory : No

P

For given two events A and B, ifP( E) :P(A)=3:1andif P(AUB): P(AUB ) =41 then

0y Both) 00900 A 8oy B o, P(4 ) P(4) =3+ 1 S0baio P(AU B)::
P(AUB)=4:1wwd.
Options:

1

1
1.%:“_1}:’(8)‘_:7
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11 4
8.5 EEP(B) E?
1
UiiP(B)EE*
3. %
4
_s e P(B) < —100

Question Number : 39 Question Id : 8135613399 Display Question Number : Yes Is Question

Mandatory : No

A die has four blank faces and 2 faces marked 3. The chance of getting a total of 12 1n 5

throws 1s

28 IO 2 20T 3 od, WADD A0 DG, LaN, & PSR 5 F& Fdoid
DA ASE" D SHAP (L BoSL AP 12 SHPS (R Vor(d

Options:
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Question Number : 40 Question Id : 8135613400 Display Question Number : Yes Is Question

Mandatory : No

Ten fair coins are tossed. Probability of getting at least 8 heads 1s

10 Adry 4 TEANOR AEDVVYE 0 8 €5°30,00 TIE-AS oIS dod’

Options:
28

1, % 27

Question Number : 41 Question Id : 8135613401 Display Question Number : Yes Is Question
Mandatory : No

The equation of the locus of a point which is at a distance of 3 units from the point (—1,2) in
the XY-plane 1s:

XV-8008° (~1,2) Dot 3 oarDe) (rdods” &od Dottd) Dot

Options:

s % X2 +y2+2x—4y+4=0

5> & x? + __1-'2 +2x—4y—4=0

3. % x2+y?—2x+4y—-4=0
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4% x2—y2+2x—4y—4=0

Question Number : 42 Question Id : 8135613402 Display Question Number : Yes Is Question
Mandatory : No

If the pomnt P changes to (4, —3) when the axes are rotated through an angle of 135° then the

coordinates of the pomt P . with respect to the original system 1s

TR 135° S IO Fmaw Sobm J6yE Ardd Aards B9 ﬁ;}g’é P Docd)
(4,-3) m arBod. ond Jure KD Gy P

Options:

e

Question Number : 43 Question Id : 8135613403 Display Question Number : Yes Is Question
Mandatory : No

The angle which the straight line v3y — x 4+ 4 = 0 makes with the y-axis is

—_—

V3V — x + 4 = 0 093 26¥0 y-005308 Sosw S

Options:

[ ]
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45°

> % 30°

3, % 75°

4.v 0

Question Number : 44 Question Id : 8135613404 Display Question Number : Yes Is Question
Mandatory : No

If 2x — 3y — 5 = 0 1s the perpendicular bisector of the line segment joining the points (3, —4)

and (@, f) then @ + f is equal to

(3,~4) 2Bt (a, ) Doy 882 B w0ty 2x — 3y — 5 = 0 50 VoAl

BR. @ +  devd

Options:
1:.% 3

Question Number : 45 Question Id : 8135613405 Display Question Number : Yes Is Question
Mandatory : No
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) ) g > X
If ‘p” 1s the length of the perpendicular from the origin onto the line = % =1 and a®. p?,

b are in AP, then a* — 2p%a® + 2p* =

ArDotisd) Aol % ¥ % = 1 200 (10 VoREPEAD P’ BNAP. 2Bakw a2, p?. b
00 oS3’ &od a* — 2pia + 2p* =

Options:

1.% —1

2. v 0

Question Number : 46 Question Id : 8135613406 Display Question Number
Mandatory : No

A(2,3) and B (3,-5) are two vertices of a AABC. If point C lies on the line L = 3x + 4y —
5 = 0. then the locus of centroid of triangle AABC is a line parallel to

A(2,3) 2080k B (3,-5) e ABC gzbadn aws), So 3. € Do L =31 +

4y -5 = 0 20vBp Y, ABC G5oa) MAS(Eodin dwe) Dodddn dod O S8
AT OB GotaRy?

Options:

1w L=0

. AB

: Yes Is Question
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Question Number : 47 Question Id : 8135613407 Display Question Number : Yes Is Question
Mandatory : No

If 2x% — 5xy + 2y* = 0 represents two sides of a triangle whose centroid is (1,2), then the

equation of the other side 1s

2x% = 5xy + 2y* = 0 Barosnnd) 500 28 GE0adn 08), Boc 2Ry AT, S8
(1,2) 56 & 2o SoGaras Goll, 0D Suresd Zomdn RS

Options:
1‘ ® .’{'—}'—3 — 0
, x Xty+3=0

3 % .I'—}-’+3=0

Question Number : 48 Question Id : 8135613408 Display Question Number : Yes Is Question
Mandatory : No

If angle between the lines represented by x% — xy + ay? = 0 1s 45°, then ‘a’ equals

¥ —xy + ay? = 0 2rQodd S0 .‘»{.‘)5 E'tas 45° and, ‘@’ densd

Options:
0 only
0 Soeegdad

1.%

—6 only

, x —6 -8
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0 (or) —6

. v 0(F) —6

Question Number : 49 Question Id : 8135613409 Display Question Number : Yes Is Question

Mandatory : No
3cosf +4sinf

2sinf + cos@

If ‘6" is acute angle between the lines x* — 7xy + 12y% = 0, then

3cosf +4sinf
2sinf + cos @

* = Txy + 12y* = 0 Qardotd d6vBaw 06| St ‘0" wand.

Options:
1
13

43

34

Question Number : 50 Question Id : 8135613410 Display Question Number : Yes Is Question
Mandatory : No

The angle between the pair of lines represented by the equation (a* — 3b%)x® + 8abxy +
(% -3a¥)y*=0is

(a? - 3b%)x* + 8abxy + (b% - 3a2)y* = 0 debSdew Ardol Gv Sogy Sniw

[ ]
gcollegedunlaa
India’s largest Student Review Platform

el



Options:
T« = 30°

2, ® 457

4,0 @

Question Number : 51 Question Id : 8135613411 Display Question Number : Yes Is Question
Mandatory : No

Find the pole of 2x + 3y — 4 = 0 with respect to the circle x? + y? = 16.
x* + y* = 16 Sy q;,goé 2x + 3y — 4 = 0 cg), Gydaw

Options:

:  (-8,12)

s« (-8,-12)

o o (8.12)

Question Number : 52 Question Id : 8135613412 Display Question Number : Yes Is Question
Mandatory : No
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Find the slope of a diameter, which passes through the point (5, 6). for the circle x* + y* + 10x +

12y +1=01s
P+ y2+ 100412y +1=0 5,838 (5,6) Dot ot b o aIng) e

Options:

6

1.¢ 3

Question Number : 53 Question Id : 8135613413 Display Question Number : Yes Is Question

Mandatory : No

The equation of the chord of the circle x% + y = 81 which is bisected at the point (—2,3) is

v 4 y? = 81 8,508 a8 2 3065 Dodioid) (~2,3) o 27 HR0EGERD

Options:
% 3x—y=13

1

2. %

3. %

4‘ \\y 21- T 3}’ —_ _13

g IY—%X="13

2x — 3y
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Question Number : 54 Question Id : 8135613414 Display Question Number : Yes Is Question
Mandatory : No

The radius of the circle with center at (2, 1) and touching the line 3x + 4y =51s units
(2,1) 36 Bomr) €80, 31 + 4y = 5 AO¥ED VyFod )8 v;&gan VATV

Options:

1.¢ 1

Question Number : 55 Question Id : 8135613415 Display Question Number : Yes Is Question
Mandatory : No

The equation of the circle cutting the circle x* 4 y* 4+ 2x — 4y + 8 = 0 orthogonally and
coaxial with the circles x>+ y* 4+ 6x+4y-12=0and x* +y* —4x -6y -12=0

x4 y2 460 + 4y — 12 = 0 08050 x +yE —4x — 6y — 12 = 0 0 0E 0 w6k’
gotar X2 4 y2 4 2x — 4y + 8 = 0 X Votol olotd Sy HaEGHAD DE?

Options:
1 X+ +Bx+6y—-12=10

5> % x> +y*+8x—6y—12=0

3 u X +y*—8x+6y—12=0
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42 X>+y*—8x—6y—12=0

Question Number : 56 Question Id : 8135613416 Display Question Number : Yes Is Question
Mandatory : No

If (~3,2) lies on the circle x% + y* + 2gx + 2fy + ¢ = 0 which is concentric with the circle
xt+y24+6x+8y—5=0thenc

? +y% +6x+8y -5 = 0 53808 dedofosvinai| S0 1 +y% + 291 +2fy +
c=09 (-32) G0l 0@ ¢

Options:
e 11

3. % 24

4 u —24

Question Number : 57 Question Id : 8135613417 Display Question Number : Yes Is Question
Mandatory : No

The length of latus rectum of the parabola whose focal chord PSQ is such that SP = 3 and

SQ=215 units

SP =3 &dadw SO =2 90335 DB PSQ 28 DT 00D ) 7 0N, & DTSV
a38), T otio TEY) ___ 0ardkw

Options:
12

1.% 3
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Question Number : 58 Question Id : 8135613418 Display Question Number : Yes Is Question
Mandatory : No

Find the equation of an ellipse whose vertices are (+5,0) and foci are (+4,0).

(£5,0) e Fgromar 28aw (+4,0) e TV o BYS58 S0

Options:

, @ 9x* +25y* =225

, » 25x%+9y* =225

3. % 3x2 4+ 4y% =192

4 u 4% +3y° =12

Question Number : 59 Question Id : 8135613419 Display Question Number : Yes Is Question
Mandatory : No
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2 B
If the foc1 of a hyperbola comcide with the foc1 of the ellipse 5 + % = 1. then the equation of
hyperbola. 1f its eccentricity is 2. 1s

2 2
2 68)088 (1L 2,8 OSVT"HVOHA AWS), THW ;—5+ L= 5%&;9:333 as),

g —
208 DEBDD. ¢ BSHTIVADAD DAVSEHA

Options:
2 2
X
4 =1
1@ 4 12
2 2
X y
——=1
, % 12 4
xz_yz_l
3 % 16 144
xz_yz_l
4% 2 12

Question Number : 60 Question Id : 8135613420 Display Question Number : Yes Is Question
Mandatory : No

The point (3, —5, —4) lies in the octant,

(3, =5, —4) Dotd S QQSQOSE GolO.

Options:
Sth

1 % O

Bth
> & 8
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Question Number : 61 Question Id : 8135613421 Display Question Number : Yes Is Question

Mandatory : No

The angle between the lines whose direction cosines satisfy the equations [ + m +n = 0 and

P4+md-nt=0is

Goto) ROV B0 aiws), &S S0 [+m+n=0208080 2+m?—n?=0ed
LSBT RRY Doy DBR), &8 B 206 ST Lo,

Options:
T

1.% 2

c\|=1

wl::l

Question Number : 62 Question Id : 8135613422 Display Question Number : Yes Is Question
Mandatory : No
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Givenpomnts A(1,2,2).B(2,3,6)and C(3,4,12). find the direction cosines of a line

which is equally inclined with 0A. 0B and OC. where 0 1s the origin.

A(1,2,2),B(2,3,6) &bt C(3,4,12) dochoien eowd, 04, 0B Sasw 0C v
D S B VG B8 & 98¢ 0 J0rudoPHR APt
Options:

1 =1

g

1. ® vZ2 V2

,0)

1 1 0)
2. 8 \"FZ F\"‘? '
1 =1 1
( )

3% V3 V343

S T |

( ’1')
v BBV

Question Number : 63 Question Id : 8135613423 Display Question Number : Yes Is Question

Mandatory : No

If f(x) = lim n (xl’(n = 1). then for x,y > 0. f(xv) =

n—oo

f(x) = lim n.(;r” " 1) Y. X,y > 0 AN\ f (xy) =

n-—a

Options:

1. % f('i) " f(.'.*’)
> ¢ FE)+ 1)

3. % f(l) i f(l’)
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4% fO)

Question Number : 64 Question Id : 8135613424 Display Question Number : Yes Is Question
Mandatory : No

| \;’rl —cos{2(x — 2)}
lim

x—=2 x—2

Options:
Equals to —/2
—V/2 £ DD

1. %

1
Equals to B

1
— ) NaAT° e
> % V2

Does not exist

bﬁbi}@o ST
3.+ @

Equals to V2

/2 £ HAHAD
4. %

Question Number : 65 Question Id : 8135613425 Display Question Number : Yes Is Question
Mandatory : No

If f(2) = 14 and f'(x) = 14. then lim 2f(2) —2f{x) =

x—2 x—2

f(2) =14 2003w f'(x) = 14 ®@ond. lim AL e LS =
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Options:
. % 14

2. % 12

3. ¢ =

4, % 13

Question Number : 66 Question Id : 8135613426 Display Question Number : Yes Is Question
Mandatory : No

f(x)-a

If f(a) = a?; ¢p(a) = b? and f'(a) = 3 ¢'(a). then lim =5
xX—a ¢(x)—b

f(a) = a*; ¢(a) = b* 2803w f'(a) = 3 ¢'(a) ®owd. lim ;Ex):i -

Options:
b £

1. % a?

Question Number : 67 Question Id : 8135613427 Display Question Number : Yes Is Question
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Mandatory : No

If f(x) = x* = 3x and . B are the roots of f(x) = f(x). then a® + % =

fx) = 1 = 31, 08080 @. f o f(x) = f'(x) HedebrrIS Surerey wowd, ¢’ + f2 =

Options:
, » 5+V13

g, &

4. % 23

Question Number : 68 Question Id : 8135613428 Display Question Number : Yes Is Question

Mandatory : No

00

7
If vy’ =log{x +log{x +

0o

y
y = log{x + log{x +

Options:
log 2

e 2@ 1)

1—log2
5> & 2V2(e*-1)

V2(1-1log2)

dy -
1. then A at x = e” -2, y =12 equals
X

Y %03

}oowd, x =e’ -2, y=12 20

3. % el -1
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log 2
VZ2(e2 - 1)

Question Number : 69 Question Id : 8135613429 Display Question Number : Yes Is Question
Mandatory : No

Let ‘f" be a twice differentiable function such that /" (x) = —f(x) and f'(x) = g(x). If

h(x) = {f (x)F + {g(x)}* and h(5) = 11. then h(10) =

f"(x) = —f(x) 208w f'(x) = g(x) eoaiyer ‘f* w8 Bodsd HOAPHY WISV
o, h(x) = {[F(0)F +{g(0))* 8asw h(5) = 11 eand, e h(10) =

Options:
22

1. %

> ¢ 11

Question Number : 70 Question Id : 8135613430 Display Question Number : Yes Is Question

Mandatory : No

A window 1s 1n the shape of a rectangle. with a semi-circle fused to one
of 1ts sides. as shown in the figure. If the perimeter of the window 13
fixed as 20 units. then its maximum area can be $q. unifs,

D008 B Dol 2,8 GBI 2D TS, 28 IS 8
EERTTTR) 2OBIMIT 6 368 Ui 6 6. & 353 aws)
$0en§0d 20 Ahrrr JTBoddtond. e Jodre (6% DTl 3] QP LW.

Options:
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400

100

200

4J1r+4

Question Number : 71 Question Id : 8135613431 Display Question Number : Yes Is Question

Mandatory : No

The constant ‘¢’ of Lagrange’s theorem for f(x) = (x = 1)(x = 2)(x = 3) mn [0, 4] 15

[0,4] ©9086085° f(x) = (x— 1)(x — 2)(x — 3) » vTod i}g‘néoﬁs ‘0 D

Options:

2
1+—
1% T V3

Question Number : 72 Question Id : 8135613432 Display Question Number : Yes Is Question

-
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Mandatory : No

From a rectangular sheet having dimensions 30 cm X 80 cm. four equal squares of side x cm
are cut at each corner. The remaining sides of the rectangle are folded up vertically so as to
form an open rectangular box. Find the value of ‘x” for which the volume of the box formed 15
maximum.

30 cm X 80 cm Soden o 28 BIBSISE 6 35 Jw8), g, Terb Surew dow
X oM 0B (R W5 SBIGTSY $08) 0 8800, DAY B dNg) DS

QDY 2 Q. 28 Jurd G O Sared B’ & DB IO
(B2 LS GokSVR ‘v e

Options:

1 ® Xx=30cm
> & Xx=20cm

20
X =

—_—cm
3. v 3

4 ® X=15cm

Question Number : 73 Question Id : 8135613433 Display Question Number : Yes Is Question
Mandatory : No

A ladder 5 m long 1s leaning against a wall. If the top of the ladder slides downwards at a rate
of 10 cm.sec™ . then the rate at which the angle between the floor and the ladder decreases.

when the lower end of ladder 1s 2 m from the wall. 1s radian. sec™?

5m 0 TEPL w8 A3 At QP o) Gotrdd. &8 DD 2§ 280s 10 em ©
Sy B T $068 2rhrdod) B. & Iy o8 § Fe Kol 2 m © AP’

60) D). Iy S8 IS S e e’ Brdcse Bt ¢S G¢.0509y
Options:

1
1, % 10
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2.¢ 20
20

3, %

4. % 10

Question Number : 74 Question Id : 8135613434 Display Question Number : Yes Is Question

Mandatory : No

[ Sin x p
T AT ‘1‘ e
J sin 3x

Options:
1 V3 +tanx
— = log =
1 2V 3 V3 —tanx
1 V3 —tanx
— 1(} =
5 % 2V3 V3 +tanx
1 \."'§ + tanx
— lﬂg —
3 = 43 V3 —tanx
1 V3 —tanx
F— lﬂg =
4 443 V3 +tanx

Question Number : 75 Question Id : 8135613435 Display Question Number : Yes Is Question

Mandatory : No

-
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J dx B
x(4+x%)

Options:

11 ( x2 )+
—og B o
1 % 4 4 + x

Question Number : 76 Question Id : 8135613436 Display Question Number : Yes Is Question
Mandatory : No

r " .
’ x —1 P
X —
J x*(x* +x* + 1)1’/2

Options:

2t +x?+1
) T+ C
1. % :
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4 % \;"_1‘4 +x2+1 +c

Question Number : 77 Question Id : 8135613437 Display Question Number : Yes Is Question
Mandatory : No

dx B
f.t‘(:{'s 3

Options:

1
glog x> + 3| + ¢

1. %

=3
x5+ 3

1
15

log

“FC
2.

5

1
5 log

x
x2+3

4+ c
3. %

1
—log x>+ 3| +¢
4% 3

Question Number : 78 Question Id : 8135613438 Display Question Number : Yes Is Question
Mandatory : No

EE

J' dx
xlogx

e

Options:
1 % —1+log2

, w —2+log3
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3 » —log3

4 log 2

Question Number : 79 Question Id : 8135613439 Display Question Number : Yes Is Question

Mandatory : No

3
" log x
X =
2 X
1
Options:
1 = log3
> Goxd)
px 20
1 .
— (log3)”
5 *
4. % (log 3)2

Question Number : 80 Question Id : 8135613440 Display Question Number : Yes Is Question

Mandatory : No

Find the solution of the following differential equation:

_¢ [dy
Sin~ ! (dxr) =x+y

208 9I9EDD PDAECLIANIL FBD:

o EY
Sin~* ( dir) =Xx+Yy
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Options:

x X=tan(x +y)+secx+y) +c

1.
, ¢ X= tan(x + y) —sec(x +y) + ¢
5 | x=tan(x +vy) + sec?(x + y)+c
i tan(x + y) — sec’(x + v)+c

Physics
SectionId: 81356176
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40

Enable Mark as Answered Mark for Review and

Clear Response:

Yes

Question Number : 81 Question Id : 8135613441 Display Question Number : Yes Is Question

Mandatory : No
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Match the following?

Column-I Column-II
(a) Capacitance (1)  volt (ampere)™
(b) Magnetic Induction (if) voltsecond (ampere)™
(¢) Inductance (i) newton (ampere)™* (metre)™
(d) Resistance (iv) coulomb? (joule)™
Sod TR 2ADENXAN?
§o-1 §o-2
(a) 8203y [sne] () S (eobass)™
(b) eI 0d D6 (i) Sew 8 (odass)
(c)  gaso O Mes (i) A0S (soban6) ! (o)
(d) A& (iv) (Soero) ™! (Few)

Options:
| % (a—ii),(b—iii),(c—iv),(d—1i)

5 o Ca=iy),(h=ii) (e—ii),(d—1)
5 % (a—iii),(b—iv),(c—i),(d—ii)

5 u (a—iv),(B~1),(e~ii), (d —iif)

Question Number : 82 Question Id : 8135613442 Display Question Number : Yes Is Question

Mandatory : No
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A particle 1s at x = 0 when t = 0. It moves among x-axis with a velocity given by v = 5vx.

Find the acceleration of this particle

WS t=0 .ﬁg X =0.x — 0830 o0& H0d300¢° G&'Jl S£:0) e v = 5\.!'; m
'absesdé&. SEad00 A00E); S(Gea M3

Options:

1 % 8.5 m.s*

5> o 125 m.s 2

3. % 10.5 HI.S_Z

4 % 115 m.s~2

Question Number : 83 Question Id : 8135613443 Display Question Number : Yes Is Question
Mandatory : No

To reach point-B from point-A. a person travels 500 m North. 400 m East and 200 m South.

If the person takes 1200 seconds to reach point-B from pomnt-A. then find the average velocity
of the person

AL 3555 A Dot Aot B 8 B66=RS, 500 m &d6Aw, 400 m éJ‘d)) 00030 200 m
GE8:90 DO BT, A ok B S BOE-RS ;55§ 1000 sec &0 R000&w
RET) . & S8 ), HTB Jrido

Options:

5 —
Y

1

—.E
2 ® 20
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10
—.s

12 -
il &
} D

Question Number : 84 Question Id : 8135613444 Display Question Number : Yes Is Question
Mandatory : No

A bomb needs to be dropped by an aero plane while moving with a speed of 200 m.s™* from

a height of 800 m in order to hit a target. The plane must drop the bomb when 1t is at a

distance of from the target? (g = 10 m.s™?)

800 m goss” 200 m.s™" HA0S HOEreIRVD) Dirdo Ao w8 EPtVR PENEETE.
OF) ¢ EVERY, LEfo Aol erow PO FIAN Jod ErGANS' ord?
(g=10m.s7%)

Options:
% 1980 m

1
> % 1631 m
3 % 1908 m
4 1131m

Question Number : 85 Question Id : 8135613445 Display Question Number : Yes Is Question
Mandatory : No
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The time period of a pendulum in a stationary lift 1s °T". If the lift moves upwards with

.

acceleration % the time period of the pendulum becomes

LN ;'gaeﬁ‘ 03) w8 D96 vwdvsin CoT 363 sodw T, %ésémmﬁ 05 ps
$C50R0%) 98, LG VA NS, EVTHEY STVAD

Options:

B

Question Number : 86 Question Id : 8135613446 Display Question Number : Yes Is Question

Mandatory : No

A 500 kg car takes a round turn of radius 50 m with a velocity of 36 kmph. The centripetal

force acting on the car is

500 kg © S°6 36 kmph 6308 50 Q| FiRrgad ev Swe) 8. Lavd s D3
On) BN VS0l VAN dodd?

Options:
1 % 250N

, % 500N
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2 % 750N

4 » 1000 N

Question Number : 87 Question Id : 8135613447 Display Question Number : Yes Is Question
Mandatory : No

When a light body and a heavy body have equal momenta. the kinetic energy 1s greater
for

383 H0: Hdasn LADD R0 28 @) Jrred SHAALD) . & Vodsy IS B3I
(1023S 8y 7

Options:

The lighter body
| o 9933 S

The heavy body
EODD S0

2. %

Both are equal

L % 00CD DITDI

Can’t be determined

 QUrlotiT AN
4.% ~o

Question Number : 88 Question Id : 8135613448 Display Question Number : Yes Is Question
Mandatory : No
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When a force F acts on a body and the body moves with a velocity v, the power is given by

RO F 636 0 50 Q06 B, 88 S0P T s €850 SI0B, & S
6ot 308 30

Options:

Question Number : 89 Question Id : 8135613449 Display Question Number : Yes Is Question
Mandatory : No

A body of mass 2.5 kg 1s thrown vertically upwards with a kinetic energy of 500 J. The height

at which the kinetic energy of the body reduces to 50% of its original value 1s
(g=10m.s7%)

25 kg 69703 o 30HR 5007 H33EE My YT 3 DVorw. (133§ dwe),
eSS’ 50% O o 3¢ Srdedoed? (g=10m.s7)

Options:

i o 10 m

5 % 12.5m

3 % 25m
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4 % 50 m

Question Number : 90 Question Id : 8135613450 Display Question Number : Yes Is Question
Mandatory : No

Rotational analogue of force in linear motion 1s

BDOH THODEE’D LIREANDL ZA0E BODANS® DATIHE DB?

Options:
Torque

v &%

Moment of mertia
. adés 2080

Angular momentum

i & 'edah @D

Weight

4 % Alebhe))

Question Number : 91 Question Id : 8135613451 Display Question Number : Yes Is Question
Mandatory : No

The radius of gyration of a solid sphere of radius ‘r* about a certain axis is ‘r’. The distance of

this axis from the centre of the sphere 1s

28 DB g3 HEJT a«savgm; 77 S0AD w8 DoAATHL awe) Fom 353“%:3.1) o
A0 068 & dood. & L3 ErEw Jod?

Options:
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05y

3 w\f(l.é r

4. 8 \m r

Question Number : 92 Question Id : 8135613452 Display Question Number : Yes Is Question

Mandatory : No

A small mass attached to a string rotates on a
frictionless tabletop as shown. If the tension in the
string 15 increased by pulling the string and causing the

radius of the circular path to decrease by a factor of 2.

the kinetic energy of the mass will

28 DUy G073 28 %) 3Bowd 6HT M%) LY HLANY" WrdD AT
AT, T erh 3302 86 )8 353‘3313 TS SV BB Do, &

3R0:9) (102 33

Options:
decrease by a factor of 2
" AMTAS éf;})e‘hc&

remain constant

Ly S6E

increase by a factor of 2

. 080 W PBVS

4, v
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increase by a factor of 4
TP T BB

Question Number : 93 Question Id : 8135613453 Display Question Number : Yes Is Question
Mandatory : No

The escape velocity from the earth is 11.2 km.s™*. The escape velocity from a planet having

twice the radius and the same mean density as the earth 1s:

B0 R0odt DAL 340 11.2 k.51 . Dot B4 TG S0Bat 2irDod
PA:80000% o SR (P Aol HErAD D Jod?

Options:

i 22.4 km.s™1

, & 11.2 km.s™

3 % 2.6 km.s™ !

4 % 158 km.s™*

Question Number : 94 Question Id : 8135613454 Display Question Number : Yes Is Question
Mandatory : No

An object is projected upwards with a velocity of 89.6 km.s™* from the surface of the earth.

Velocity of the body when 1t escapes the gravitational pull of the earth 1s

Br8 g, GBS0 Aol 89.6 km.s™ s w8 31w P8 DB, & S
B g AMEEEN Mo By dabod’ & dng) Sriw

Options:

- -1
1 112 km.s
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5 (\f’m X 11.2) km.s™1

3 (V63 x 11.2)km.s™?

4% (\.-@X 11.2) km.s™?!

Question Number : 95 Question Id : 8135613455 Display Question Number : Yes Is Question

Mandatory : No

The shape of a regular body distorts due to

28 SA0°5°0 SR CINE), BT EINS” A6 SRED IB\B

Options:

Volume strain
G 20DV DSD

Longitudinal strain

| ©BG DED

Shearing strain
- DATLD DSB

Metallic strain

i & ST DS

Question Number : 96 Question Id : 8135613456 Display Question Number : Yes Is Question

Mandatory : No

Viscosity 1s

5
alga 908
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Options:
Adhesive force

| % DRVORD ODD

Cohesive force

ORNORA B
2. ¢

Long range force

[ e} .3‘5’.':: LIRS
3,8 & 3=

Pressure

j w DEDI

Question Number : 97 Question Id : 8135613457 Display Question Number : Yes Is Question
Mandatory : No

Increase in pressure at one point of an enclosed liquid in equilibrium at rest 1s transmutted

equally to all other pomnts. This is as per

NS i@:a 56 mwgw &) BB GTS 28 Do S f:c.‘.a".bl Dold, &
DERSD ) Dot SEL DAFSANT HFE2HBE. 26 O VLA PFEA?

Options:

Impulse

| DSR2

Conservation of momentum
Qaﬁ@d 1)6565 DO
2. %

Pascal’s law

o 3%66 oS80
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Bemoulli’s theorem

| e‘acirlb AT oha0
4, % =

Question Number : 98 Question Id : 8135613458 Display Question Number : Yes Is Question
Mandatory : No

The coefficient of volume expansion is

0DHBAT :J"Sg & (easA0

Options:

Less than the coefficient of linear expansion
B TFE WESD0 Soll BE),IT Gotwod

1.8

Twice the coefficient of linear expansion

, « 2% T RIS S0t B0 Eotwod

Equal to the coetfficient of linear expansion

36 :.1"556::5 AOEISANE) DIATIAVMT Sotod
3. % T

Thrice the coefficient of linear expansion

fate! a*zs%‘é HEISAE) STPED Bl Sotod
4.4 o

Question Number : 99 Question Id : 8135613459 Display Question Number : Yes Is Question
Mandatory : No

Temperature determines the direction of net change of

B BE), AEG Hrddy BB eggo Qoo

Options:

1.8
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gross Kinetic energy
D020 (B2 3S

gross Potential energy
L Q0S80 ?géa 3S

intermolecular Potential energy

29030 DOATED B2 IS
3. ® @ =

mtermolecular Kinetic energy

29030 DB (DR B3
4. & .

Question Number : 100 Question Id : 8135613460 Display Question Number : Yes Is Question
Mandatory : No

A Carnot engine whose low-temperature reservoir 1s at 27 °C. has an efficiency 37.5 %. The

high temperature reservoir 1s at

w8 58 adabodin 37.5 % G588 806N 6. o vy edtd Sdhv Fderiahin
27 °C 3¢ 63 6. 0ds &' Hdro arsahin ed(o
@ ) @ X )

Options:
1 % 480 °C

5 x 327°C
2 u 307°C

1. 2077
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Question Number : 101 Question Id : 8135613461 Display Question Number : Yes Is Question

Mandatory : No

An electric refrigerator extracts 2000 calories from ice trays. If the coefficient of performance

15 5. then the work done by the motor 1s calories

8 oS 239€6m abodam e o 2od) 2000 EvBed AiForud). abHodAn
401308 RS 5 oS TP B0 99 vdwd’

Options:

1. % O
, » 400

L % 2000

4 % 10000

Question Number : 102 Question Id : 8135613462 Display Question Number : Yes Is Question
Mandatory : No

. TN T — - : : -
Find the ratio of Ty isobaric process, if the ratio of molar specific heat capacities of the

. Cp
gasusedis—=y
Cy
§ Cp AQ
28 DAED D300S" Awerd DI v A —=y ©ud, — =
L gl © AW
Options:
.
e 7
y=31
2.% ¥
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Question Number : 103 Question Id : 8135613463 Display Question Number : Yes Is Question

Mandatory : No

Pressure versus temperature graph of equal number of moles
of an 1deal gas of different volumes are plotted as shown

the figure. Choose the correct alternative

0 D) DDBATTFRY A0BAH0 AT VoS’ Aren R
500 T°080) A0S, 30 280k egoaso DOSG
B T AOLLGHA. & S0 TS DOGNA

Options:

« Va2 V3 >V, >V

S ™

3-\JV1=V2;V3=V4 & VZ::’V:;

~V1=V2:V3:V4 8{ VZ{ZVS

Pal

Question Number : 104 Question Id : 8135613464 Display Question Number : Yes Is Question

Mandatory : No
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An elastic string of length 2 m 1s fixed at one end. The string starts to vibrate i third overtone

with a frequency 1200 Hz. The ratio of frequency of first overtone and fundamental 1s

2m TER 0 28 DOFTDE & 28 DI6D Dodeact 6:) 8. & 8 1200 Hz Fdanadyaod
Pcisd AR(E0E Sootiand) B. oS e BSRGAN B Feads
THDAA0 ARG

Options :

w13

3‘¢3=1

4,8 HEL

Question Number : 105 Question Id : 8135613465 Display Question Number : Yes Is Question
Mandatory : No

A plane mirror is approaching you at 5 em.s™*. You can see your image in it. At what speed

will your image approach you?

28 D080 5033w D ) 5 om. 57! SN’ adRVed. > Botos’
29Dotr) Wranud. D8N dod R !bmé@l A7

Options:

1 10cm.s™?

5 % 5cm.s™!

3 % 20cm.s™t

- ~1
2 15cm.s

4,
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Question Number : 106 Question Id : 8135613466 Display Question Number : Yes Is Question
Mandatory : No

A cube of side b has a charge ‘q” at each of its vertices. The electric field at the centre of the

cube will be

b gonan DR w8 AW g 28 )y %g:‘.m 36 ‘g’ 0 DT Gotr. Lod ¢
0 G0g) Bog 68 DS £

Options:

.. 4
2
). % 2D

Question Number : 107 Question Id : 8135613467 Display Question Number : Yes Is Question
Mandatory : No

A parallel plate capacitor has a capacity C. If a thin metal plate (M)

joins the two coatings A and B of the capacitor, its new capacitance 1s

28 DATOB0 HVSY SV S 358 € . M o Heosd A B
&P DU Tocd DUSW A Bk B 0k 008, o aiwg), §¢

Options:
1% 2C
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4,4 ®

Question Number : 108 Question Id : 8135613468 Display Question Number : Yes Is Question

Mandatory : No

What 15 electro static potential due to charge configuration,

at point P. shown 1n the figure? (given b «< a )

R30S i DDA 8 39 Dot P 3¢ 'P T
De(® TOaS 087 (b <« a 17 0D |

Options:
qb?

3
% 41’:500

1.

2qb*

3
> % 4mwEegQ
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Question Number : 109 Question Id : 8135613469 Display Question Number : Yes Is Question
Mandatory : No

What are the values of ‘E” in the following circuit. if a

current of 2 A flows i the clockwise as well as in

£5

anticlockwise direction?
20V

2 A DS i B%5° Jdosw abaa5aa6‘ 4o
SVOHANE" DITRODY Y E” Dewide SR

=

Options:

, o 38V, 2V
% 3V, 30V

4.% 3V, 28V

Question Number : 110 Question Id : 8135613470 Display Question Number : Yes Is Question
Mandatory : No

Three long. straight and parallel wires carrying currents pA
are arranged as shown in figure. The force experienced = q

by 10 cm length of wire Q" 1s

HAE* R S Jurc TED 83)3, 204 104 304 l
DATed0 SR ok JENS DY) .
OYW, 10 cm © @ S HASosw wosw -

2cm

Options:
1.4 X 107* N towards the right

Cx LAX 107N apips
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1.4 X 10™* N towards the left
5 u 14X 1074 N &0

2.6 X 107* N towards the right
L 26X 1074 N Dapips

2.6 X 107* N towards the left
4 % 26X 1074 N dEsopipe

Question Number : 111 Question Id : 8135613471 Display Question Number : Yes Is Question

Mandatory : No

An electron having kinetic energy ‘T" 1s moving in a circular orbit. If radius ‘R’ perpendicular

to the uniform magnetic field i direction B . If kinetic energy 1s doubled and magnetic field

mduction s tripled. the radius will become

28 DBD eaby)0d Hom Z3W B’ 8 VoA R’ TGN o HTs0 S4¥° 18
Jos (0 38 ‘T' & Ao 6. (82 38 08exy BA WOLF) 08 £ D6 AP
Ot Lond Jug™d 887A 33 mﬁ&gm

Options:

‘ 9
R —
“ -

1

W N

) 4 ¥
=y =y 3
P BT B )
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Question Number : 112 Question Id : 8135613472 Display Question Number : Yes Is Question

Mandatory : No

A tangent galvanometer has a coil of 50 turns and a radius of 20 cm. The horizontal component of

earth’s magnetic field 1s 3 X 10" T. What will be the current which gives a deflection of 45°7

20 em {rgaan 9Bak 50 o) i B cob) SN 8 EroBols meTALE 63)0. 4
woiaﬂ"z,ue’.’e 8 £02 DArods woddw 3 X 107 T. 45° 92060 BodS Dc.béé DTN aod?

Options:
3

——
AL

Question Number : 113 Question Id : 8135613473 Display Question Number : Yes Is Question

Mandatory : No
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Two horizontal wires of lengths [, and [,. having the

same mass m, are free to slide on different vertical rals ] l ; l
: " . 1 2

with velocities vy and v, respectively. in the same

{ g ; P " | { == " IE >
magnetic field B as shown in the figure. If a; and a, are
the accelerations of the two horizontal wires respectively.

o . . Y p— e\ A A A e

then the necessary condition for a; > a, 1s R B ‘”;”’

28 §3[0°3 30800 Tekpen [y , 1, 0 ot $0 DroB Sriew a8 8L 08 $8:50 B
& D00 N0 PV SABVT v, , v, ATOF VT 2PEST) . & Totd) $82
AATodE e S0P S @; B a; oA a; > 1, TS AR

Options:

I‘l (Vi)l/z
el
3.8 & N

Question Number : 114 Question Id : 8135613474 Display Question Number : Yes Is Question

Mandatory : No

[ ]
gcollegedumas
India’s largest Student Review Platform

el



A small square loop of wire of side ‘I' is placed inside a large square loop of wire if side ‘L'(L » 1) .
The loops are coplanar and their centers coincide. The mutual inductance of the system is

proportional to

28 WA) BATTE & iy as), o I'. a6 S80S ‘L i (o D¢ tdwsIs
& oS’ (L » 1) 63) 8. Both) PR 28 S0’ &od, D Solren béa}?)@a“lnn. &3
3% oIS, B[R DONS SRS ArDFSAE" GodidB & d0d TS’ DB?

Options:

Question Number : 115 Question Id : 8135613475 Display Question Number : Yes Is Question
Mandatory : No
If 120 V. 60 Hz AC voltage 1s applied to an LR circuit having R = 10 Q and L = 2 H. then

current 1n the circuit 1s

R =10 Q 208050 L = 2 H denden $DAD 28 LR Soaaw go. 120 V Sdoko 60 Hz
AC 5823 o8 005805 S000E" IS HIPAW dod?

Options:
, % 0324

5 o 0164
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4 % 0.804

Question Number : 116 Question Id : 8135613476 Display Question Number : Yes Is Question
Mandatory : No

If E and B represent electric and magnetic field vectors of the electromagnetic wave, then the
direction of propagation of electromagnetic wave 1s along

E 200050 B 032 2.8 Dd{easd) o8 doffdw aog), sahi¥yod 8ok xS £
DOV APIY), AEADF) 08 Sofi DIC BF & $0b D BIY" Gotod?

Options:

—_—

1.% E

Question Number : 117 Question Id : 8135613477 Display Question Number : Yes Is Question
Mandatory : No

The maximum wavelength of light that can cause photo electric effect in a metal of work
function 3.5 eV 15

9 Do 3.5 eV $IAD &'irods” T DS ey $8Aed 570 g, MY
Boriag Dod?

Options:

[ ]
gcollegedunlaa
India’s largest Student Review Platform

el



1 354.5 nm

5 % 35.45 nm

5 % 567 X107 m

s x 5.67A

Question Number : 118 Question Id : 8135613478 Display Question Number : Yes Is Question
Mandatory : No

A hydrogen like atom emits radiation of frequency 2.7 X 10*® Hz when it undergoes a
transition from n = 2 to n = 1. For the same atom. find the frequency of the radiation emitted

when a transition occurs fromn =3 ton = 1.

28 TEAS TS Dodrm n = 2 Ao n = 1 8 ArddYyh 08 2.7 X 10 Hz
3%;:3@5;1» $9AD DE6ET) DendBotdod. ©aNd, 1 =3 Aol n = 1 § APEIYYW
R0IE DGR THYI(H0

Options:

15
o & BEH I T

, » 18X 10" Hz

, x 69X 10 Hz

47 x 10 Hz
4. %

Question Number : 119 Question Id : 8135613479 Display Question Number : Yes Is Question
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A star initially has 10*? deuterons. It produces energy via the following process:
le + 1h’2 — 1H3 +pand 1H2 + 1H3 — 2h’e4 +n
If the average power radiated by the star is 1022 W the deuteron supply of the star will be

exhausted 1 a tume which 1s of the order of _Given masses of nuclei of H is
2.014 amu. He* 1s 4.001 amu. m(p) is 1.007 amu and m(n) is 1.008 amu

8 35S0 FEabsdnrr 104 drpod vl ¢0A &) 4. ©d

H+ B — H+p SBa H'+ H — He'+n 03 pdabe oo 480
GG BRood. & MEAw B8 e Babed VOB 3§ 8 10 I wand
FEBANG"D RS 00 dod LRSS (WATIT) PG L? (H go3

2.014 amu, He* gbﬁtl"% 4,001 amu, m(p) = 1.007 amu, m(n) = 1.008 amu)

Options:

, x 10*%s

i w20"

Question Number : 120 Question Id : 8135613480 Display Question Number : Yes Is Question
Mandatory : No

A microwave telephone like operating at the central frequency of 10 X 10’ Hz has been established
if 2 % of this 15 available for microwave communication channel. How many telephone channels

can be simultaneously granted 1f each telephone s allotted a bandwidth of 8 kHz?

10 X 10° Hz g, S0 Tpf 56 A 2rg) ddor HOY'D Swabin
Doy BODGIB. K], Sborf DoRY IR TS §230 A" 2 % otertnd’ God. 9O
OIS o), 08 déeoy 8 kHz wowd 8 0 I OIS TIYR Soart) Bobdeix?

Options:
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1 % 1.5X10
, % 3.5 % 10°

4
3 25X 10

6
4 % 45%x10

Chemistry

SectionId: 81356177
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40

Enable Mark as Answered Mark for Review and
Yes
Clear Response :

Question Number : 121 Question Id : 8135613481 Display Question Number : Yes Is Question
Mandatory : No

[dentify the possible set of quantum numbers ‘n’, *I’. ‘m” and ‘s’ respectively for the outer

most electron of copper. in its ground state.
e;rguow‘ 5700 DOATEY CIE), WX JUES g ‘N’ ‘I, ‘m’ HHBodw ‘s’
508 o[V VNIV o SH0)

Options:

+1
G

.

1. Fl
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O e

2 o |

2

. 2.2,

Question Number : 122 Question Id : 8135613482 Display Question Number : Yes Is Question
Mandatory : No

The approximate ratio of the energy of a photon to that of an electron when both have the same

wavelength of 0.2 nm 1s

W8 JEPD, w8 VTR, VAT 360340 0.2 nm v $0A &Y. JerS #8 odow

QTS 38 AWE) G WATFDT__

Options:

2
. o L6X10

> % 1.0% 107
4 % 1.6 X107

Question Number : 123 Question Id : 8135613483 Display Question Number : Yes Is Question
Mandatory : No
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The ratio of area of the second orbit to that of the third orbit in an atom 1s

28 DOATENVG’ Boksd BAKD SIrES SE[v AS) DT UL A3

Options:
y, 8 WD

, % BE27

3'\:,,;.'16 : 81

Question Number : 124 Question Id : 8135613484 Display Question Number : Yes Is Question
Mandatory : No

The decreasing order of shielding effect of orbitals 1s

€38 67°% DOGLEI DLPHI0 S LW

Options:

f id >0 8

1. %

2_¥d>f:>s>p

3ﬁp}s>f>d

4vf,s>p::d:»f

Question Number : 125 Question Id : 8135613485 Display Question Number : Yes Is Question
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An element with high electronegativity has (IE-Ionization Energy. EA- Electron Affinity)

068 avn DE[TE$8 4903 Arusan $DA &otwod (E-wabAson 38, EA-
dogd AdA)

Options:

Low IE & High EA

| % BEYS [E & ded EA

Low IE & Low EA

_ 88y S IE & &85 EA
2. %

High IE & Low EA

3 % &)&b.‘b IE & és%a EA

High IE & High EA

os:ba IE & Ds%;:) EA
4.

Question Number : 126 Question Id : 8135613486 Display Question Number : Yes Is Question
Mandatory : No

Identify the correct arrangement of the given molecules, based on their dipole moments.
B deTrvse cs;,g:S SorsAIECA e BABEVS” I DOGOIEG?

Options:

.« NH; > BF; > NF,

, « NHy = NF, > BF,

3 % NE¥; > BF, > N,

4, v
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Nh'3 = NF3 > BF3

Question Number : 127 Question Id : 8135613487 Display Question Number : Yes Is Question
Mandatory : No

When some ether 1s added to an aqueous solution of a mixture of LiCl. NaCl and AlCl;. which

of these will be extracted into ether?

LiCl. NaCl 30805 AlCl; o0 (o 20@rdn 38rds SAm &6 sudm 86" 2
836 6'28 iy B ovseacierow?

Options:
- LiCl. NaCl. AlCl,

LiCl. AICl; only
, o LiClL AlCl; 35gd

LiCl. NaCl only
, » LiClL NaCl 258

NaCl. AlCl; only
4 x NaCl AlCl; 3rg3

Question Number : 128 Question Id : 8135613488 Display Question Number : Yes Is Question
Mandatory : No

How many ¢ and 7 bonds are present in the given compound? N

08" X 030} 930S ) 7 AW T WoFreD SV’

Options:
« 180 ,8m

1™
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> % 180 ,4m

% & 220 ,4m

4 % 100 ,4m

Question Number : 129 Question Id : 8135613489 Display Question Number : Yes Is Question

Mandatory : No

Identify the correct relation between Boyle temperature (Tj). Critical temperature (T ) and

Inversion temperature (T;):

eW)) eg*ga Tg, RoB} eg“ga Tc, 08 eg“ge:a T; © 3065 Dot 390 BN S04

Options:

1 % Iy 28y 05
2‘%Tc > T > Tg
3__\yTl- > Tp > Tp
4 % Ip >l > T,

Question Number : 130 Question Id : 8135613490 Display Question Number : Yes Is Question

Mandatory : No

-
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1 mole of each of X, , X, , X3 with Vander wall’s constants a (in atm L*mol™%) 1.0,3.8,2.1
respectively 1s kept separately m three different vessels of equal volume at identical
temperature, Their pressures are observed to be P, , P,, & P respectively. On the basis of this

data alone. select the correct option (neglect the effect of b)

TG T oS @ (atm *mol™2 &°) 1.0,3.8,2.1 Sdowore €882 X, , X, , X
TOH0PVA 28 LRVBALHAN &) e DA Foe’ ’gé eg“ga 3¢ Gotra. ¢
TOIL DET0 IO Py, Py, & P, 00 & GTrosin 8o SodTdd’ 258
g0 Dol (b’ Herar) D) Botsodt)

Options:

1 % Pr <P <Pj

3.¢.P2<P3<:P1

4 % P1:P2:P3

Question Number : 131 Question Id : 8135613491 Display Question Number : Yes Is Question
Mandatory : No

A gas occupies 4.5 L at 27 °C. If the pressure 1s kept constant and the temperature 1s increased
to 127 °C. the same gas would occupy

27°C ¢ 28 T 45 L 2000375200 8ED0dIB. 38 D0 36 6 T
127°C 3¢ 3Ry DG 0RDBATEAD ENoN?

Options:
> % 45L
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3 % 3.0L

4 & BT,

Question Number : 132 Question Id : 8135613492 Display Question Number : Yes Is Question
Mandatory : No

When a mixture of C0, and CO 1s passed over red-hot graphite. 1t 1s observed that 1 mole of the
muxture changes to 39.2 L (at STP). Then find the mole fraction of 0, i the given muxture.

€0, 208030 (0 0 0 28 TADIAF) T edabee TR DS Do 1 Ard
0300 39.2 L deagorr (STP 36) 8rtnBoBod. . &8 ges’ (0, 36 gy

Options:
1 = 0.66

5 u 525

4 » 033

Question Number : 133 Question Id : 8135613493 Display Question Number : Yes Is Question
Mandatory : No

The bond dissociation energies of H,. Cl, and HCl are given as 104. 58 and 103 kcal. mol o

respectively. Find the enthalpy of formation of HCI.

H,. CL, &08a30 HCl © io@iS\@$ 350 6 104, 58 8t 103 keal. mol™
AN, awd, HCI g, o doady

Options:
1 % —44 keal. mol ™!
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5> & —22 keal. mol ™"
3 » 44 kcal. mol™*

4 % 11 kcal.mol™

Question Number : 134 Question Id : 8135613494 Display Question Number : Yes Is Question

Mandatory : No
For the reaction at 298K. A, By, = 2AB, . AH = 2 kJ and AS = 20 J/K at constant P & T, the

reaction will be

298K 6 2> A; By ~ 2AB, . AH = 2 kJ Sodatn AS = 201/K (D6bes, addde 36)

& W0

Options:
spontaneous & entropy driven

i €90B) S0 SOOI Doff'a) D HEDWEIR

spontaneous & enthalpy driven
90308 $,8:300 LBOKN Dody JVD JEDIEDW

non-spontaneous
9008 S;BB0 ST

at equilibrium
ama"fge‘.’é DG 2EO

Question Number : 135 Question Id : 8135613495 Display Question Number : Yes Is Question
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Mandatory : No

Using the data given below, find the expression for equilibrium constant ‘K’ for the reaction
5
ZNH3+?OET—‘ 2NO +3 H,0

Equilibrium constant for the reaction 2 NH; = N, + 3H, 15K,

Equilibrium constant for the reaction 2 NO = N, + 0, 5 K,

e . .
Equilibrium constant for the reaction - 02+ H, = Hy0 15 K

408 o) HBriTdotsod.
2 NHy = N, + 3H, 86( T3 doroso K,

2NO = N, + 0, 86§ "fom@%é QU“oSo K,
1
=0+ Hy = Hy0 68 220030 27080 Ky

5
W) 2 NH; + o= 0, = 2NO +3 H,0 6(® Fo:.uw?ga gcoasn ‘K'=

Options:

KK,

1.v K2

KK,
x Ki

z,

KK,

3. % KS

4 % K K; K;

Question Number : 136 Question Id : 8135613496 Display Question Number : Yes Is Question
Mandatory : No
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Match the following?

So® T wBNGHeC.?
Salt Solubility
VS0 Ksp T Seod

(a) Ag,Cro0, (i) 5.3x107Y (p) 1.34x107°

(b) AgCl (i) 5x 10718 (@) 0.65x107*
(c) AgBr (1) 1.1x 10712 (r) 0.90 x 1078
(d) Agl (iv) 1.8x 10710 (s) 0.71% 1076

Options:
v (a—iii—q), (b—iv—p), (c—ii—s), (d—i—r)

, x (a—ii—p), (b—iii—r), (c—i—q), (d—iv—s)
;3  (a—iv—s), (b—i—q), (c—iii—r), (d—ii—p)

4 % (a—i=r), (b—ii—8), (c—iv—p), (d—iii—q)

Question Number : 137 Question Id : 8135613497 Display Question Number : Yes Is Question
Mandatory : No

Find the value of AH® (in kJ. mol™?) in the following reaction:

208 ao@“ AH® Densd (kI. mol texs?)

Fe, A
3 o

Options:
, % 92.6

5 »—92.6
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3 % 285

. —285

Question Number : 138 Question Id : 8135613498 Display Question Number : Yes Is Question
Mandatory : No

BeS0, 1s soluble in water, whereas BaS0, 1s insoluble. This is because

BeS0, DS $6a0. 5°0 BaS0, DB’ 646, oGBS

Options:
The lattice energy of BeSO, 1s more than its hydration enthalpy.
BeS0, ang), oS 38 oD TEQS Jowrdy ol d),S.

1, %

The hydration enthalpy of BeS0, 1s more than its lattice enthalpy.

|, BeSO, cag), ZrEAd Jorrd) oD 2res 33 Sotd 8,3,

The 1onization enthalpy of Be 1s comparatively higher than Ba.
oy Be 0008y ©abdSon dorrdy. Ba e, ©assDe6nm dorrd) o Fdorr ey S

In BaS0;. the lattice enthalpy and hydration enthalpy are equal.
4 BeSO, a8 TERS dorrd) 00w U Jomrd v Denisen VBFHI.

Question Number : 139 Question Id : 8135613499 Display Question Number : Yes Is Question
Mandatory : No

Which one of the following compounds does not exist?

208 :‘:a;&)y.‘f:rves‘ 328 &8 T?

Options:
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.« BaHu(CH3),

, % B2H3(CHz);

s« BaHx(CH3),

4 o B2H(CH3)s

Question Number : 140 Question Id : 8135613500 Display Question Number : Yes Is Question
Mandatory : No

Identify the mncreasing order of 1onization enthalpies of the group-14 elements.
14 3 (7D rus0 aEEH Jomrdyw FOE BBPn SA7) HBoBI.

Options:
1 %Sl <C < Ge <Sn<Pb

, x 8 <€ = Ga < Ph< 8n

3N < Pb<Ge<Si<C

s 8Pb<Sn< Ge<Si<C

Question Number : 141 Question Id : 8135613501 Display Question Number : Yes Is Question
Mandatory : No
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Find the number of ¢ and m bonds i the following enol form.

S0t IR D) ¥do A0S, &8 droed’ (v T} 08050 2 LT Voad|

COOH COOH

W = YTy

'UH C2H5 0 CZHS

Options:

,Iﬂﬁtr&lrr

>, x 180 & 1m

3,#21‘7& 2T

4‘3¢60&2n

Question Number : 142 Question Id : 8135613502 Display Question Number : Yes Is Question
Mandatory : No

Identify the decreasing order of nucleophilicity for the following species.

308 VS’ arsgwbaw (RArfdairpe wwiw) dng) es8rn gadw 3uaw.

Options:

.« OH > NH, > CH30 > RNH,

, « NH, > OH > CH3;0 > RNH,

, wNH, > CH;0 > OH > RNH,

, « CHs0 > NH, > OH > RNH,
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Question Number : 143 Question Id : 8135613503 Display Question Number : Yes Is Question
Mandatory : No

When an unsaturated hydrocarbon X 1s passed through a red-hot iron

1 , CH
fube, 1t forms the compound shown in the figure, Identify X. .

X 080 08 0083 ES6)S D A DéiSosond @D o

(T Do DY LI D) F80 DBYEAR. LW, & H,C CH,
:Q‘@S‘ﬁaé

Options:

2 — Methyl prop — 1 — ene

BT s S

1. %

Prop — 1 — yne
2 do—1— 2

3 — Methyl cyclo prop — 1 — ene

L x 3 WPSRETD -1 - &

Methyl cyclo propyne

4w DB DE TS

Question Number : 144 Question Id : 8135613504 Display Question Number : Yes Is Question
Mandatory : No

Identify the correct statement among the following:

808 DIVT VS’ VBD A Botod::

Options:
CH3;0CH; & C,H;OH are chain 1somers
_— CH3;0CH; 00030 C,H;0H e 3o 3‘(:’)&?“50.’1

2. %
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CH;COOH & CH;COOCH; are position 1somers
CH3;CO0H 0030 CH3CO00CH; &0 2‘:‘6 E)‘dﬁ"sw

CH3;CH,CH,CH; & CH(CH;); are functional isomers
3 % CH;CH,CH,CH; &8030 CH(CH3)3 20 D0 DHrr -3‘663?5&13

CH;CH,CH,0H & CH3 — CH(OH) — CH,CH are position isomers

o o CHsCHCHyOH 3380w CH; - CH(OH) — CH,CHy o0 33 Fesywjen

Question Number : 145 Question Id : 8135613505 Display Question Number : Yes Is Question
Mandatory : No

At =B — A" —B

The following structure containing A™ cations and B~ anions

. () —

S0ir AF 8ok Ml B~ vy $9AD Hrdwe’ I

PR o) 2 3DoDiSed. | ‘ ‘ |
B-—A"—B —*

represents

Options:
Schottky effect
| w TE), S7DBW

Frenkel effect

, o 2086 5" DA

Metal excess defect

, x OB 5°53 e5°DA

Impurity

A% O30
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Question Number : 146 Question Id : 8135613506 Display Question Number : Yes Is Question
Mandatory : No

Which of the following compound is used as antifreeze in car cooling system?
$06 HI FITVS" BID 56 RoBYS’ 0B DOSEAIT TCTE?

Options:

Ethyl alcohol

. &3 23035:3595
e ™™ i

Glycerol
. ORT°S
I

Ethylene glycol

wébs 05
3. ¢ -

Nitro benzene

° » DE5° B3RS

Question Number : 147 Question Id : 8135613507 Display Question Number : Yes Is Question
Mandatory : No

For a solution made up of n-hexane and n-heptane. which of the following conditions hold?

N-a38y® 0800 N-IPRS BT TS BHID) oAred” I8 WYIEG

Options:
A F=0 ;: .. VED

mix

[ ]
gcollegedunlaa
India’s largest Student Review Platform

el



T TR SOl T T
mix mix

Question Number : 148 Question Id : 8135613508 Display Question Number : Yes Is Question

Mandatory : No

Which products among the following are formed during the electrolysis of concentrated

solution of NaCl ?
) G 2(g) A anode

(1) NaOH as electrolyte
(111) Hz(g] at cathode

6 NaCl 20mrsmd) DEojeEm Som oy G8yT7) e

(1) eSE 36 Cly,)

(i) NaOH dEdBER(Sam

(i) SEE 5 Hy, 5
Options:

(1) only

e () 28D

(1) and (11) only
Ly (1) 20805 (ii) 33

(1) and (111) only
3 % (1) 0803 (111) Sorehadd

(1). (1) and (111)
4 (D). (i) SoBasw (ii1)

Question Number : 149 Question Id : 8135613509 Display Question Number : Yes Is Question
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Mandatory : No

An electrochemical cell is represented as X | X* (x M) || Y (y M) | Y. The e.m.f measured is
+0.5 V. Identify the corresponding cell reaction.

XIXY (M) [] Y (y M) | Y Rarddocstacsd Desofd 6o ok gy e.m.f (edoferyos
200) +0.5 V. &8 2otloBon)d &) 6

Options:
i BrFY—s X

s u BP0

i # X°HF —% +¥°

Question Number : 150 Question Id : 8135613510 Display Question Number : Yes Is Question
Mandatory : No

Calculate the mass of copper deposited when a current of 1 4 was passed through a solution of
CuS 0, for one hour. Given 1 F = 96500 C and electrochemical equivalent of Cu =
329%x 1074 g.c™!

CuS0, o6 ot 1 B0 :)msgm 28 (o) DY VoYY DB\ 5706
oW 5030 308" §8) otdod.. (1F = 96500 C, 5706 DS G090 SMICRMW
329x107*g.C71)

Options:
1 % 0.595

2 8 2.45

3. % 9.9
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Question Number : 151 Question Id : 8135613511 Display Question Number : Yes Is Question
Mandatory : No

Freundlich adsorption 1sotherm 1s

oG AT VAT B DB?

Options:
X
—=k(@)""
1 & M
X _
b (pJI/n
2 % m
— o (p)*
3 % M
—_ = Lk(p)"
4 ® M 2

Question Number : 152 Question Id : 8135613512 Display Question Number : Yes Is Question
Mandatory : No

The number of electron pairs shared by each nitrogen atom in the formation of N, molecule is

N, Be0) A6COLE DS I &S HEATMY) DoY) VTS 2o

Options:
1. % 6
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Question Number : 153 Question Id : 8135613513 Display Question Number : Yes Is Question
Mandatory : No

The appropriate product(s) formed in the following reaction is(are)

& W0 &5’ Do_)c:.csﬁ;:; GET) / GIR) A
XeF, + PF. ——

Options:

. % XeFy & PFs

7 % XE-'Fg & PF4

3 % [PF4]+[XE’F3]

. [xeF]"[PF,]

Question Number : 154 Question Id : 8135613514 Display Question Number : Yes Is Question
Mandatory : No

The product of the following reaction i1s:

$0d que‘s‘ ‘;)csba..a &)

H,50,4
C12H52014 i

Options:

1. "
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Hexane

:J"g:).s

Hexanol

, % :J"SDSQS

co,
3 % 5"60«5 [ ?3535

Carbon

S0\
R

Question Number : 155 Question Id : 8135613515 Display Question Number : Yes Is Question
Mandatory : No

The general trend of enthalpies of atomisation of d-block elements 1s

d &P§ SaPusR HOATE0n Jorrdyw SN T dnT DG &0ty

Options:

;% Series- 1 > Series- 2 > Series- 3

5> % Series- 1 > Series- 3 > Series- 2

5 o Series- 3 > Series- 2 > Series- 1

4 % Series- 2 > Series- 1 > Series- 2

Question Number : 156 Question Id : 8135613516 Display Question Number : Yes Is Question

Mandatory : No
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The most common oxidation state among lanthanoids is

BADD) THS° roBIEL 0B JTEOE BSS6E Vo DB?

Options:
1. % +4

> ¢ 13

3, % 2

4. % T1

Question Number : 157 Question Id : 8135613517 Display Question Number : Yes Is Question

Mandatory : No

The amino acid which 1s optically inactive 1s

C5y963 ZA0ES G DS e5DAD

Options:

Lysine
. TS
% 0

Glycine

0D
2.¢ <

Leucine

2 x OTRD

Alanine

4 % DD

-
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Question Number : 158 Question Id : 8135613518 Display Question Number : Yes Is Question
Mandatory : No

Identify X in the following reaction:

Sod :‘.565036 X
(i) Mg / Ether
CceHsCH,Br > X
(ii) H,07
Options:

. % CeHsCH,0CH,CgHs

, » CeHsCH,0H
. o CeHsCH;

4 % CellsCHaCHyCoHs

Question Number : 159 Question Id : 8135613519 Display Question Number : Yes Is Question
Mandatory : No

The relatively more electron rich sites of the following aromatic compounds are

S0B B - ‘fo;ﬁoé#mveﬁ‘ QTS VB (Fodsdh) e3BSANT Gol 5°6)® g"a“w

(i) (ii)
Options:
1 % (i)2.5 & (i) 2,3
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, « (4,5 & (ii) 3,5

30 2,4,6 & (i)2,6

4 % 12,56 & (i)2,6

Question Number : 160 Question Id : 8135613520 Display Question Number : Yes Is Question
Mandatory : No

Identify the major product of the following reaction:

808 BO{ES” DETD GByD) A0

MgBr
(i) CO,
> ?
(ii) H;07
Options:
CHO
1.%
COOH
2. %
3. %
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OH
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